N = 0l & At & Ml A

018HE OlA YPEN BT BHXAD ~ BT AED
SN B HYND
Hu: F0I0E pEey
ggg9xe #8294 X
SH - BAEA) - MRAY - BES Of &t o il
HE X2 0t 16,439,563 16,830,796
= 35,587
Al 16,403,976
= 2¥29 1,611,514 1,739,014
gdgies #3824 ¥ 188,738 216,349
2T dAFN X 118,228 131,028
201 2Bt Yl 50,302 57,102
01 AtR 2t 2l | 12,160 18,960
oxzH % 9&d 1,500& = 50004 750
o4& % JEH A 5,500% = 5004 2,750
OAREE & 70,000& = 5& * 102 3,500
os2d EE ZAZ 1,000
O EBH2HAH(S 1,000
-l = 300,000& » 1H = 23 600
= 200,0008 » 1¥ » 23 400
OFAZZ U= 1,360
o=22= ,000& = 498 « 23] 960
ogst= 100,000& * 4H 400
OLEdA 22 S 70,000& * 403/ 2,800
02 3224l 38,142 38,142
O0Sd s 80,000& * 460¥ 36,800
OHF AR ZHI 1,342
ONEF A 15,000,000& = 8% 1,200
OS A 1,000,000& = 8% 80
OE A AHIED] 768,120& * 8% 62
203 R =& 12,000 12,000
BAMEXARS 12,000 12,000
CEILIET PN o xx
12,000,000& 12,000
206 M= Hl 7,936 7,936
01 M= Hl 7,936 7,936
OL=Jt27 WH 7,936
OH=21s (A 24,000 ~ 45 ~ 60K 576
OUEEHIII(Z 160,000& = GOK 960
O2t=27| 4,000& = 1,0000H 4,000
OJt27] HE(S% 8,000& = 3000H 2,400
301 LEE N 33,690 33,690
02 ¥st=&stli= 32,370 32,370
CIUE=FSPNIERS, 647,4008 » 25% = 23 32,370
09 BMNAHESS 1,320 1,320




SN SER BINAY
HE: 0O IHRY
ol BRUYXE PF2Y XK CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsHEF 0IS&E2As 29
10,000& = 11 « 63l 660
O0s9 7 FLUXNXNAAE A 294
10,0003 = 11 « 62l 660
307 gl2tol & 14,300 11,300 3,000
05 BIZHRIE 3 14,300 11,300 3,000
O=3d¢ JH2J| . 2el & A
3,575,000& = 43| 14,300
A ==X 58 19,950 14,250 5,700
201 Let24d] 13,950 8,250 5,700
01 At 22/l 13,950 8,250 5,700
OXEES33 T2 29 2AxE
300,000& = 304 = 123 10,800
OX3=s3 Exet3 2 30,0008 * 10X 300
ONASSS SRHMA 7Y 60,0008 + 5H 300
OXE=3z3 H§IRUE 7Y 30,0002 * 57K 150
OXNAS33 g§723 F 1,500& * 2004 300
OX3==3l RIIME P2 15,0008 = 2004 300
OZXYSS3 EREII(HSBJI 308) 7
60,0002 = 304 1,800
303 L& 3 6,000 6,000 0
01 243 6,000 6,000 0
09+, M, By, HYPNZRH EH
100,000& * 10¥ » 62 6,000
ACLALSIE A THE X 50,560 49,200 1,360
307 21201 A 50,560 49,200 1,360
02 P SAMHEL 50,560 49,200 1,360
OS¥sS MOIS2XNEZXE2S AEHl XA
1,200,000& * 11002 13,200
OSHS MOtSRUS AtH K&
1,200,000& * 11002 13,200
OSHYsE H2AHAIIAJAS AHXA
1,360,000& * 11002 14,960
Ost=TtrEc0Y SHS=E3 MIXH
600,000& = 70H A 4,200
OSHSHEH NIASAU AHXA
5,000,000 * 1A 5,000
=& JlE, g8, sH gL 46,048 79,698 A 33,650
THE BEolE =2 22,310 28,276 25,966
201 et 15,310 19,080 A3,770
01 At 22l 15,310 12,680 2,630
o4& FEFYREON R 7,000




SN SER BINAY
HE: 0O IHRY
@42 FF JIE, g8, SH 9L (&)
SN HH-S(BN) - MBAY - B il HlnE2
OFJ g2 20N 20
10,000& = 508 * 23| 1,000
O#A 22N RO
10,000& = 508 * 23| 1,000
O3 #E MRBLA 2ol
10,000& = 1008 * 13l 1,000
OS+AMEIN S0
10,000& = 508 * 23| 1,000
OF2d: MEHEM 50
10,000& = 1008 * 13l 1,000
ONMEHEM 7 10,000& = 1008 * 13l 1,000
O =¥ FEEIAM B2
10,000& * 508 * 23| 1,000
O%AZ LB B0 M
70,000& = 83l 560
O3 Wad &L AES 1,200
OCelXItH 250,000& * 43| 1,000
osg= 50,0008 * 43| 200
ONHMZEZ LH HASE
100,000& = 3H =« 13l 300
OFREYRFLN S 4l 8,000& » 10F » 656 5,200
OXANE AAME 1,050
Oo2olx=d PHEE NE(SEZA) 700
-Jl& 230,000& = 1H =« 23| 460
-t 120,000& = 1H « 23| 240
O23Z talk talk 2HE(SE 2 A) 350
= 230,000& = 1H « 13l 230
-t 120,000& * 1¥ 13 120
202 o4dl 7,000 7,696 A 696
01 = LH o4 1l 7,000 7,696 A 696
OF&EASRF=E WUl 20,0008 » 109 = 35 7,000
Mot REES 23,738 45,738 222,000
2 EH2 HH| 23,238 26,238 23,000
At 2 el i 23,238 26,238 A 3,000
o7& JIEEE & &8 2,830
Oolst= 5,000& = 50004 2,500
O A& BT} 11,0002 * 304 330
OHFANE MEF=EE 15,408
OF2=ON| 15,0002 * QIHAF * 32 » 12& 4,860
OXI&X 13,0003 = QAL = 72 = 128 9,828
O=F2tX 5,000& = 44 At = 35 * 128 720
o7& g2 g2 10,0002 * 5008 5,000
401 Al HI L 2 THHI 500 19,500 19,000




SN SER BINAY
HE: 0O IHRY
ool PF I, B2, SX AU CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 500 19,500 A 19,000
Ot A B2 50,000& * 10JH 500
A8E 2oHE 29 121,670 111,565 10, 105
A8E RES2HEHY 4 10,680 6,960 3,720
201 LBt | 10,680 6,960 3,720
01 AP 22| d| 10,680 6,960 3,720
Okl - HY - M= CHUHHX L EE2S HMHZE
6,000 * 5008 3,000
OLeHHSE HELAL WS 2ASEY
120,000 ~ 29 240
O=-AHYLI =1 2s84d=
20,000& = 300CH 6,000
OSHBAWMANL(SSAL)AHEY 222
360,000 * 244 * 23] 1,440
SHHMSAE 22 100,990 104,605 N3,615
401 AlEHI 2L 2 0HY| 100,990 103,325 N2,335
01 Al&H| 100,990 103,325 N2,335
o) A 30,0008 * 233& 6,990
OXES HNOolEEZ2ZE &
40,000,000& = 100 A 40,000
oLE:E2s)I7 WA 3,000,000& = 3& 9,000
OZMNIE SU=S(11E) OIYR2EIIF &AX(A
) 2,500,000& = 43 10,000
OLANIES ZMHS(3E) 0IAR=TIF &EX (A7
) 3,000,000& = 4& 12,000
OZMNIES AES(29E) ORI AX(4
) 3,000,000& = 4& 12,000
OZMIE NESES(16E) OIAR2=SIIP &X(F
Jh) 3,000,000& = 2& 6,000
OZAMI=E Hlot=S(21€) OIA=2=SI1? &X(F
Jh) 2,500,000& = 2& 5,000
20 2StHE A =& 10,000 0 10,000
201 et d| 10,000 0 10,000
03 HAI2 HHI 10,000 0 10,000
OR2ASE 25 LS00l #HAIZZ (2 ALA
[Eg=1Nel3-1D) 10,000,000& = 13 10,000
WA HANEE XM 450,200 575,270 A 125,070
HEs S AHEL Al 219,142 296,713 NTT,571
201 et Y| 157,892 162,713 N4, 821
01 AP 2t 2] d| 17,576 18,576 A 1,000
OLIctEH Ol =42 20,000& = 1254 2,500
OFHESE L A& KO 3,550
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OXtsxt 2el

OMUEFE ¥
S8 AE
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-StEX AE

OXS XA
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-¢ 50,000& » 5&
60& * 1,00004 * 105

@2 2703 * 10,0007

300,000& * 10A

,000& = 2JHAF = 103l
Jl 83l

70,000& » 10=+A
170,000& * 5AMIE

&
igal

13,000,000& * 0.27%

5= 200,000& = 2CH

350,000& = 3CH
460,000& * 204
600,000& * 2CH
470,000& » 1OH
860,000 = 1CH
400,000& » 1OH
820,000& * 2CH
720,000 = 504
660,000 * 8UH

75,000 = 3CH
250,000& =+ 2CH
400,000& * 204
70,000& = 1CH
120,000 = 1CH
100,000& = 1CH
200,000& = 204
55,0008 = 504
55,000& » 80K

90,000 = 10H = 23]
205,000& 100 = 23
50,000 = 108 = 23]
180,000& » 104 = 23
90,000& = 304 * 23]
50,000 = 800 * 23]
50,000& = 104 = 23]

250
600

2,700
3,000

6,000

1,550
700
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576
400

140,316
20,840
15,420
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1,200
470
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360
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2T HINAD
FOOE ¥R Y
HHe FABE X4 CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OANZSMN~2E(58 .58 82,544
29,0008 * 25CH * 23| 1,450
OBIZLAMN(SES . 58,82, S47)
65,0002 * 25C 1,625
OUEHA ALYs2E
25,0802 * 10h * 122 301
OXYRXbI 116,100
OET-$11 4,900,008 * 7CH 34,300
S 6,500,008 * 2CH 13,000
Ost2xt 4,300,008 * 16CH 68,800
202 01t 3,750 3,000 750
01 2Lhotbl 3,750 3,000 750
OAE MYEF TN 0fbl 3,750
R T 30,0008 * 5% * 152 2,250
o U 10,0002 * 5% * 302 1,500
405 TH&HH St 57,500 131,000 A73,500
01 et U 2 B35 St 57,500 131,000 A73,500
ONEFEIY T (THH)
22,000,0002 * 1CH 22,000
OMLHESHY Y (HH)
35,500,0002 * 1CH 35,500
HRs BA S22 231,058 278,557 A47,499
201 Lyt HH| 204,042 204,360 ~318
01 At 22l bl 32,403 32,876 A473
oges M2X 7Y 650
O2HFEX 30,0008 + 128 360
OXUFLEX 70,0008 * 23 140
0%, ®I|, &l B4(20184)
50,0002 * 33 150
oYRUBL+2 21,833
OFEJIGHETE Ut 242
526,3502 * 122 6,317
OAgorETR U 242
357,508 * 122 4,290
OsYINUHBL UY 42
229,008 * 122 2,748
OSYIAHA U8 +42
15,0008 * 285 * 23] 840
OBYI| BIBA £48 122,008 * 13 122
OSADA BIZAS4E 100,008 * 13] 100
OBALY £42(F &€ Z8)
733,000& * 93 6,597
Oole2 +EFAL42 150,0008 * 13 150




32 HYXA D
ptE PFEY
Mot HAEZE FH (el @2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
O&I|tE 2l A WSS
95,000& * 13 95
Oattotd2e| XA WSS
200,000& = 13| 200
OsZJ|otE 2L A WESEH|
20,000& * 13 20
OJtACtE 2| A WSS
65,000 * 13 65
OJAAISAIE0tE 22| L NREEH|
289,000& = 13| 289
OFAN AtEdH S0 70,000& = 23] 140
O3t&E Al Hig gl
29,000 = 3000 * 1/2 = 12€ 5,220
OFA ROFHIAIAE & 380,000& * 12& 4,560
02 352494l 171,639 171,484 155
OFAMNHL 2223 135,378
(OFsPIETE=: 6,000,000& = 12& 72,000
onAae2 3,000,000& = 12& 36,000
OQ4dt=ER23 2,000,000& = 12& 24,000
OAgtotd 22| X & 3| 60,000& * 13 60
O&EI|erM 2tel A & &l H| 185
-Jte bl 100,000& = 13| 100
-8 34l 85,000& * 13l 85
OZAIIAHIAREE S 25,000& * 13 25
OFAN NEsmEYEH2
500 * 6,216m * 13| 3,108
O A& &H| R4 17,145
OFMAHE SXHI(EE2X)
1,250& % 6,216m 7,826
OFAF W A S KAIb| 60,000 * 95CH 5,700
OFA W A Z2EHEFA 77,0008 * 4704 3,619
OF A &3 22| 2,700& * 2,360m * 33| 19,116
206 M = Hl 21,486 20,547 939
2l 21,486 20,547 939
OFAN HASE 13,275
OBEESEX 2 43
200,000& = 5= * 12& 12,000
OMYIl RASE
1,770& * 300 » 20 = 128 1,275
OFAN AlE22A2IES 5,672
OAN&EZ A2 XM 100,000& = 20= 2,000
OFINA2E(HIQ 68)
40,0003 * 75 x 12& 3,360
OLBANEARE 312
A2 Xl D] 7,000& * 204 ~ 12& 168




SN EHT HEXED
M FooE nHed
ool WS FABY T4
SA - BB B (BA) - MM - BHES il
-2 2 X2 6,000& = 201 = 12& 144
oirgzd 23 100,000& * 58 500
ORAZ0 HEESE 25,0003 » 20 A 500
ongES+=NE 75,000& = 62+ *x 35 1,350
Ost&EA SUHE AXIML  7,000& = 92t » 38 189
405 RHoHE S HI 5,530
01 et EZFH S 5,530
OEM W FHS2 =4 3,280
OIEl & 250,000& =« 8CH 2,000
OHEET 200,000& * 1K 200
[@EIPN; 180,000& * 6K 1,080
OJI M7 weth 450,000 » 204 900
OsZJ| Xt o Xt 350,000& =« 104 350
OQtX &g g2kt 1,000,000 * 14 1,000
Hos JuEs 2 28 X 804,858
OHEN HHFES 29 354,535
201 LB-2E| 206,735
01 At 2t 2l 39,800
OFE AZEAN ¢ 39,800
Ostd I A 260,000& * 502 13,000
OMS2Il A 2013 450,000& = 50& 22,500
OgEX 43,0004 = 100= 4,300
02 =224l 166,935
OXAMFH L AL RAES 144,775
OLRE ZFE(44404) 3,848,000 = 128 46,176
OgRE ZalH(19101) 636,660 » 12& 7,640
ORIz I/(2400) 6,238,5008 * 128 74,862
OsSgolaLZIl(2201) 1,134,410 « 128 13,613
OUEHIIS tHEsa D))
207,000& = 12& 2,484
OBAl S/W AP XIHI (20l A) 22,160
OPCE 84l T2 28,000& * 5002 14,000
OMHE A 220 440,000& = 42 1,760
OUWPCXIZI0 =20 30,000& = 1002 3,000
ONEE dsFET2 & (pcE)
34,000& * 1002 3,400
405 Xt &HE S| 147,800
01 AL ESFH S 147,800
O7& & SF0MEH dHE AIREH WX 147,800
OYg=eEg ZRHA 1,400,000& * 60CH 84,000
OZelHII(AR) 600,000& = 20CH 12,000




SN EHT HEXED
Bu: F00E 232y
el MEE JIBEY 2 BE KR (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
ORolgIAg=2(d+1) 25,000,0008 * 20k 50,000
OMSETSEOIA AL (M)
1,800,000& = 1CH 1,800
HEBE4 JIEAIE 2 450,323 375,788 74,535
201 LBt Y| 386,828 356, 188 30,640
01 At 22l ] 2,000 2,200 A 200
OANEXHTA SEEH Wl
200,000 = 10CH 2,000
02 33294l 384,828 353,988 30,840
OSN3 H ANES 188,040
O2JEBENY MES 145,200
- Al 1,900,000& = 13|& * 12& 22,800
-Feog,H 900,000& * 33| = 128 32,400
-feos 900,000& * 83| » 12&€ 86,400
-HAEXMSIE HAZG M
300,000 * 13|& + 12€ 3,600
ONE3H MEZ 36,840
-Rol0lJ ez
200,000& * 11&8l& = 128 26,400
-Feog ", s, JIE
30,000& = 293l & * 12& 10,440
OANeF 23lesEss
500,000& * 13l&d = 128 6,000
O#ANTG AIES= 3,500,000 = 12& 42,000
OLBtN G AMEZ 7,000 * 108 & = 128 840
OPCIHYIIH SN AIS 2
33,000& = 1536 * 12& 5,940
OEs M8Y JHZ230t2 3,600
OCHYAIES Z 150,000& = 138/ & = 128 1,800
(OrsPIETE=: 150,000& = 12& 1,800
O3S AEH |2 144,408
OANEEHESAEH| 5,581,000& = 128 66,972
O#HHE Mt E)]| 2,737,000& = 12& 32,844
ogzas)l 132,000& = 128 1,584
OREEHEJAEX 181,000 = 12& 2,172
OAEEHAF SE EH| 504,000& = 12& 6,048
OVolp &3te AlAE 240,000 = 12& 2,880
Zegy, sHAAE 214,000& = 128 2,568
OIPHEYSAIAE 230,000 = 128 2,760
O LU A S AIAE
1,266,000& 128 15,192
OFHCCTV 22l AlAE 425,000 *~ 12& 5,100
OSHSCCTV 2elAlAd 143,000& = 128 1,716
OZ A& S| 4,000& = 4004 = 12& 1,920




SN SER BINAY
HE: 0O IHRY
Sl MEs JIUES o 28 X CERED
5 - 4
S EH B (BH) - MBAY - BAS Ol &F o4 ﬁ}lgﬁ HRE2
OXZE AlAH(UHalofal, &)
221,000& ~ 12€ 2,652
206 M = Hl 3,000 3,000 0
01 XHZ H| 3,000 3,000 0
OXBSAALE 22X 3,000
OuUTPHOl=2 2 108 1,500,000& =* 23| 3,000
401 Al HI L 204 HI 55,495 15,000 40,495
01 Al&H| 55,000 15,000 40,000
0P U SUE PUSHLZ FY|
5,000,000& = 23] 10,000
Os==0HdE CCTV AsHH
15,000,000& = 3= 45,000
03 Al 204 Y| 495 0 495
OEBSAAAE HYAIY
55,000,000& * 0.90% 495
405 XHA&HF S HI 5,000 0 5,000
01 XL 2 FF S| 5,000 0 5,000
OHEBSAY RAELEE2 =¥ EYH Y 5,000
Ozl 2HEEXI 5,000,000& = 1CH 5,000
olgte 29 397,325 355,615 41,710
olgtael 245 U A SR 2 397,325 355,615 41,710
olgte] n=zd =4 216,130 230,820 A 14,690
101 2124 H] 1,205 1,036 169
04 JIZtHI22XNSE S 1,205 1,036 169
Oole JtZI| H 60,2403 x 44 x 53] 1,205
201 et d| 11,615 11,135 480
01 AFR 2t 2| bl 11,615 11,135 480
ODgT Y 2R 4o
70,000 = 3 A * 33 630
ool dHla 2+ L HOAE CHLHE DA
100,000& * 3074 &~ 3,000
OoIYA=E M EH| 66,0008 » 100g = 23| 1,200
Oolge 2 AE KOAZ2 HE 700
Oolgr? s 23 HE N K0
10,0009 * 508 500
ool N 28 A& S 50€ * 4,0000H 200
oDIgS NREY LAY
120,0008 = 2% * 103 2,400
oplgrels R 3,685
Oolgr =27
28,000 = 104 ~ 110 SH=S 3,080
OoIer22 X 55008 ~ 1001 ~ 110 SHS=S 605




2N

CEE
Bu: oigel 29
el pleSloiE A4S U AE=RQABE CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
206 M = Hl 4,000 16, 165 N 12,165
01 & bl 4,000 16, 165 N 12,165
ooYgAI(AUEE )72 7,000& x 1004 700
OFUUIANE EHS 228 ME
165,000& * 200 &~ 3,300
301 dEtE A= 152,980 152,830 150
04 Ar22EUHALB XA 119,080 119,080 0
oONsdEH=Zl 0tA Yl 63,880
OAE 5,000& * 49 x 123 = 128 2,880
ORXI < tH 5,000& * 49 = 10JHCH = 305& 61,000
oNsddHE=Zl 7&
200,000& * 1200HCH = 12& 28,800
ofsgdHxA 2dH|
200,000& * 11oHOH = 12& 26,400
09 HAIAHIBAZ 33,900 33,750 150
OXNYYANE M uE Yl
75,000& * 4529 33,900
305 HHA=2S 500 500 0
01 HA =S 500 500 0
OsdE ANEZE ¥ 3 500,000& * 13 500
307 212t01 & 500 500 0
01 2L 2= bl 500 500 0
O=d3s 24N Xzl 500,000& * 13 500
405 XtabF SHI 45,330 47,254 N 1,924
01 AL 2B F SHI 45,330 47,254 N 1,924
ogd=sH 45,000& * 1,00074 45,000
O N XM D= 66,000& * 54 330
2SS AMNII=ER2 22 179,505 123, 105 56,400
201 et A | 1,830 1,830 0
01 AFR2 22l dl 480 480 0
OE=& M 10,000 = 100H 100
OMI=2RRE AN 2AIE
120,000& * 23] 240
OAZERAA AAdNE S48 M
70,000& * 23] 140
02 33249l 1,350 1,350 0
oOR4aMAEH 30,000& * 459 1,350
301 dEtEAZ 177,675 121,275 56,400
0B AMI=ERRIABAZ 177,675 121,275 56,400
©Ql 24| 169,800
(@)= 366,000 * 25 x 12& 109,800




2N

CEE
Bu: oigel 29
SRl OIYWRINY UG U A=A (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O s Al 7,000& * 259 x 2502 43,750
[@FnE=3:]| 2,6008 * 259 x 250 16,250
o=22= 7,875
Odt= 46,0008 * 25%H x 24 2,300
Ox=sE 47,0008 * 25 * 24 2,350
O& N 52,0003 * 25 * 1Y 1,300
Ot 7,000& = 259 = 1 175
O2 Xt 5,0009 * 25&H x 204 250
[@l=3> 30,000 * 252 = 204 1,500
SXNHEs SSEHHN 1,690 1,690 0
201 Bt A H| 1,190 1,190 0
01 AtSR 22l bl 1,190 1,190 0
O2XNHEs HHARDE 2 325
OZglHe &Y 220,000& = 1JH 220
O=2 A2 X (A4) 21,000& * 58+A 105
ogs2s 7 350,000& = 1JH 350
OHIAUHIYER E2=2 M 515
@)= 70,000& * 504 350
o2k 33,000 * 54 165
206 M = dl 500 500 0
01 24l 500 500 0
OSXos BHS SHoE DY
30,000& * 104 300
O2XHsE =8E ZEs8 7¢
20,000& * 104 200
HHSAAL(EE R X2 ) 14,430,724 14,736,167 N 305,443
= 35,587
Al 14,395,137
oA A 13,897,844 14,239,372 N 341,528
= 35,587
Al 13,862,257
ol Al 11,618,947 11,964,975 346,028
101 @1 21| 11,618,947 11,964,975 N 346,028
01 2% 10,130,179 10,338,829 A 208,650
oJNzs3 6,988,284
Odstaxt(43) 84,864,000  1H 84,864
OdEaxt(s3) 75,156,000& * 8H 601,248
O BtA 6,302,172
-62 3,829,000& * 69 » 12& 3,170,412
-3 2,977,000& * 50 = 12& 1,786,200
-83 2,038,000& * 43% x 12& 1,051,608
-93 1,531,000& = 16Y * 12& 293,952




2N BEHT HINAD
Ha: BHSYAH(EET HIXAD)
Sel: o2y

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o= 1,974,952
OzH2R4g
10,003& = 178% = 30AI2t = 12& 640,993
oHe3RA+ 64,663
~urE52
3,829,000& = 20H » 4.1% * 128 37,678
SR
2,977,000 = 15H » 4.1% » 128 21,971
~urE72
2,038,000 = 5 » 4.1% * 128 5,014
oz2+¢
6,302,172,000& * 1/12 = 50% * 23l 525,181
OFSE=E =Pl Fig= 196,320
-256E3 0 & 130,000&  55%H » 12& 85,800
-20E 0] &f~254 0] 2t
110,000& » 50 » 12&8 66,000
-154 0] &~20& 0] 8t
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01 A2 2| 19,750 14,600 5,150
Ootd =& & ti+2 AUl &HEHYX= 10,150
O=24D] 550,000& * 1CH » 7 3,850
Og = xt 450,000& * 2CH = 7L 6,300
Ootd #HHXNE Xt Xt
800,000& * 1CH ~ 12 & 9,600
02 35244l 3,704 2,836 868
OoOxgE REHI 1,286& = 12L x 240 3,704




SA: EYP ALDED
Hu: e - Moo Mz P
ool BIEAA WA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 334,725 271,944 62,781
01 A& HI 332,493 270,000 62,493
Ootd RAACIAY 180,000, 000& 180,000
OXgotd 2801 & =IMMAHAL
30,000, 000& 30,000
Ootd 2AefzaialE: HHA 40,000,000& 40,000
ogdA ML= AE (L=100m)  60,000,000& 60,000
Oxotd OI=EX 2= 10,000, 000& 10,000
OotdZHl & |X2elA AAIEAHH
310,000,000& * 4.03% 12,493
03 Al 2 THHI 2,232 1,944 288
OdtdEHl ¥ |AZcIAtY AIE R
310,000,000& * 0.72% 2,232
AGHE FHIALY 241,845 116, 166 125,679
401 AIEHI L 2 CHYI 241,845 116, 166 125,679
01 A& HI 240,189 115,335 124,854
OActd |AZelAY 50,000,000& 50,000
OMEAGHAE S A HI S AH(L=80m)
30,000,000& 30,000
O+=4A5tA S A B3 AH(L=80m)
30,000,000& 30,000
OMLATHAE S A HI S AH(L=50m)
20,000,000& 20,000
O A5tA S A HI 2 AH(L=300m, H=2.0m)
100,000, 000& 100,000
OAGHE SXZElAY A A& A
230,000,000& * 4.43% 10,189
03 A& 2 THHI 1,656 831 825
OLotE HUIALY Al 28I
230,000,000& * 0.72% 1,656
of=2te| 517,190 360,811 156,379
ot & Xlot= Es2e 517,190 360,811 156,379
Aot Al 2 2el 34,670 33,370 1,300
201 Let24d]| 4,670 3,370 1,300
01 At 22/l 1,550 250 1,300
OXot= =2ZFL AlZ M=+="8 7
2,500& 1004 250
Oti=2 e 22X N2 (HFYH)
1,300,000 1,300
02 =24l 3,120 3,120 0
osHe=s 10,000& = 26004 « 12& 3,120
401 Al HIZ 201 Y] 30,000 30,000 0
01 A& HI 30,000 30,000 0




2N
X ZH -
L= B
el

SH - FB S (BH) - HRAY - BES il 52
OXicts XS HE SAtHI
2,500,000& * 4042 10,000
OXdt BEx2=2 FH ALY 20,000, 000& 20,000
BH=Ald HHl 2 SR 22 482,520 327,441 155,079
401 Al I 2B 482,520 327,441 155,079
01 A& HI 480,000 325,100 154,900
Oobtsot=%= &EHl & SX 22l 130,000,000 130,000
OUNES B2 & B3 AHL=70m, 8 E2H=2.0+
2k 0oh) 150,000, 000& 150,000
O=s&H Jt=tel st F Ul 3 AHL=100m,PCE A
1.0%1.0) 200,000, 000& 200,000
03 Al 2 THHI 2,520 2,341 179
O=24tH Jtetel ofs2 EHIZSA 2 1HA Al
220l 350,000,000& * 0.72% 2,520
BHS AP (ELT AL DED) 361,974 301,427 60,547
el 2 277,222 240,422 36,800
oI 244l 277,222 240,422 36,800
101 @124 dl 277,222 240,422 36,800
03 RIAHAZZ2 B+ 277,222 240,422 36,800
okzeEx¥ 268,922
OeE(It3) 134,492
-25E Xt 2,846,840 ~ 1H 128 34,163
-144 Xt 2,262, 740& = 29H 128 54,306
-114 Xt 2,103,440& * 1H 128 25,242
-43 Xt 1,731, 7408 » 12 128 20,781
Oo=¢ 88,358
-IExg 4,800
i < Xt 40,000 = 39 128 1,440
M 20,000& = 29H 128 480
=M 60,000& = 2H 128 1,440
JIEFEHIS 20,0004 = 69 128 1,440
-grE g 100,000& = 1H 128 1,200
-“EU2Rg 49,450
254 Xt
22,1109 » 198 « 45A12H » 128 11,940
1448 Xt
18,330& = 2 * 45A12+ « 128 19,797
1ME X
17,910& = 198 * 45A12F « 128 9,672
44 Xt
14,8003 = 1% = 45A12t = 123 8,041
-OR22 14,654




2N
X ZH -
L= B

el

e 02 o
Jyod @
H0 Ho U

02 02

=5

Olow OH

(O]
=
iy =

2 A

x

wE)

- B(EN) - NRAY - B S il &t o il
- 25@ Xt
29,4803 = 1 = 10AI2t = 128 3,538
1448 Xt
24,4403 = 2H * 10AI2t = 128 5,866
TTEXH(BHE)
23,8803 * 1H = 10Al2t = 128 2,866
44 3t
19,8603 = 1% = 10AI2t = 128 2,384
B SPN R =, 7,327
- 25Q@ Xt 117,920& * 1H » 15¢ 1,769
- 144Xt 97,7603 * 29¥ » 15¢ 2,933
A (BHE) 95,5204 * 18 » 15¢ 1,433
IS DN; 79,4403 * 19H = 15¢ 1,192
-Zelx=g 70,0003 = 53 » 123 4,200
25 6,727
- 25@ Xt 142,340& » 19 » 128 1,709
- 144Xt 113,130& = 2% » 123 2,716
< TTEXH(BER) 105,170 « 19 12& 1,263
SN, 86,5804 * 1H » 123 1,039
OZFEFItHI 14,572
-25E Xt 1,850,440& = 1H * 23] 3,701
-1449 Xt 1,470,780& » 2% « 23| 5,884
-1E Xt 1,367,230 » 1H * 23] 2,735
-43 Xt 1,125,630& * 1H « 23| 2,252
OPIR= g = 150,000& = 53 * 43| 3,000
OIJHAX &bl 175,000& = 5% » 123 10,500
O= &l 150,000& » 5% 128 9,000
On &t 150,000& = 5H = 123 9,000
OR &I Xzl 500,000& = 59H 2,500
OLz=E+¥ I=H 280,000& = 5H 1,400
OEzExd E2X =S4l
8,000& = 5 110 4,400
|23 bl 84,752
Jl2zl 84,752
201 LEr2 Y| 48,848
01 At 2teltl 39,576
OJ12g2=a8A 500,000& = 309H 15,000
OJ=ZHl(S&l)
8,000 = 329 = 8¢ » 12& 24,576
02 =224l 9,272
oORUR= 9,272
Og et 300& « 8,888A 2,667
Os2l 1,930& * 3,000 5,790




2N

MY #FSAAYY(EYP ALDED)
el JI=23Hl 9 )
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol &F o4 %@ﬁ 2t
oets=2 1,630 = 5004 815
202 04d| 30,144 21,600 8,544
01 2L HI 30, 144 21,600 8,544
OJ|=Z& |
20,000& = 229 % 82 * 128 * 60% 25,344
OAANZSEIH(EHAZ)
200,000& = 2% * 12€& 4,800
203 €2 F&d| 5,760 4,320 1,440
04 ENSH LR E=XH| 5,760 4,320 1,440
OJ| &= 5,760
03021 0|5t 400,000& * 12& 4,800
[@KIESN 5,000& * 16 » 12& 960
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SN EHT AED
B ASHE AN
Sl BEHS NTHS CERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
| | | Os22)| 3,0002 * 50H 15
HM2HAY(EER A=) 87,634 46,480 41,154
JlE&ddl 87,634 46,480 41,154
Jl2 &4l 87,634 46,480 41,154
201 LBt ]| 36,566 27,160 9,406
01 AP 22| H| 29,432 20,080 9,352
OJl2gssAY| 500,000 = 229 11,000
OJIZ=ZHl (SHI)
8,000& * 249 x 8L x 128 18,432
02 2324 7,134 7,080 54
oORTR= 6,150
oYLt 3008 = 150 * 12€ 540
OS2Il 1,930 = 200 * 12€ 4,632
Oets 2 1,630 = 50 * 12& 978
OHA™ARHH S X d| 984
O& K= A 5,000,000 * 2CH * 8% 800
[@)IE-pl 2,300,000& * 1CH * 8% 184
202 044l 46,368 15,120 31,248
01 2L Y| 24,768 15,120 9,648
OJl=Z&Z |
20,0008 = 13 = 82 x 128 * 80% 19,968
OMANEEX (HEZE
200,000 * 29 * 12& 4,800
02 &4 H| 21,600 0 21,600
(OFINEF PN 200,000& * 9¥ * 12& 21,600
203 R F & 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
©2J|=&d|(25¢210/3at) 350,000 ~ 12& 4,200
405 XHoHFE S HI 500 0 500
01 XA 2B F S| 500 0 500
ott=E CIXEIH0 et 500,000& * 1CH 500




